BITADFERFICE TS ZERBSREMNELR (FMEFOR S

BIERES  IREBMETRE=4 Radi (PA-1000)
BIEISAT  REX-IXEEDO SRR IE 1 &R

REFLEIEENERHSERIE. ThENPRMGEZAE LFHEZEL)
AlEs  hEE50c m(PERIETM)

1 ERERTHEDHRE GBER1FRH)

uSv/h
0.300

FEE(E
0.250 [E#E(E]
0.200 ( XENRHNAZBZLLTOSEALZITDEBMNEIERE

| #0237/ 00—R )L (=FE/B1ZY—R)LA)

0.150
0.100

[F#1E]
0.050 D Oy mm— S
O-OOO T T T T T T T T T T T T

R5.6 R5.7 R5.8 R5.9 R5.10 R5.11 R5.12 R6.1 R6.2 R6.3 R6.4 R6.5 R6.6

2 MEHRITEDATEHER
INEERR GRIFEES50em)

A IZT BIER [BIERZI| XiE| BIEE(y Sv/h) i
BN R6.6.17 14:15 & 0.066 1 BEE BE50cm
SEINERR R6.6.19 13:58 i 0.034 BBEEBE50cm
= /N R6.6.7 13:55 & 0.053 1 BEE BE50cm
BN R6.6.6 14:34 (5 0.050 B EEEBE50cm
{hEBT /NS R6.6.5 14:15 & 0.054 1 BEE BE50cm
/MR INEEAR R6.6.17 13:40 i 0.062 B EEEBE50cm
KAARINEFE R6.6.14 14:35 & 0.055 1 BEE BE50cm
A EF IR R6.6.12 14:40 (5 0.048 B BEEBE50cm
FBUGRINVERR R6.6.19 13:32 5 0.053 B EEBE50cm
MEA/ DR R6.6.14 13:40 i 0.054 BEEEBE50cm
KARINERL R6.6.10 14:00 = 0.054 R EE & BE50cm
KA HINERR R6.6.25 14:20 = 0.045 BBEEBE50cm
RiBINER R6.6.12 13:50 B 0.064 R EEE FE500m
EIRINER R6.6.11 14:25 i 0.038 X EEEFES0cm
BIL/NERR R6.6.11 13:40 [ 0.065 1 BEE BE50cm
SHEEF /R R6.6.24 13:40 i 0.058 X EEEFES0cm
HFR/NER R6.6.6 14:10 [ 0.062 ¥ EERFES0cm
HE/MER R6.6.6 13:42 i 0.064 X EEEFES0cm
RN R R6.6.4 13:55 £ 0.052 R EEE FE500m
ABINER R6.6.13 14:30 £ 0.085 X BEEEFE50cm
IRAR /N R6.6.13 14:00 ) 0.061 1 BEE BE50cm
o BN R R6.6.5 13:40 i 0.049 X BEEEFE50cm
iz INEAR R6.6.3 14:20 B 0.054 R EEE FE500m
IER /N R6.6.3 13:45 £ 0.076 X BEEEFE50cm
FASL /N GRIFEE50em)

JBIE IS BIEBR | RIERZI| Xz | BIEME(uSv/h) 5=
AENZFBINER R6.7.10 10:00 £ 0.053 X BEEFE50cm




BRI ZIEFR GRIEE50em)

B 7E 15 i AER [RIFERZ| Xix| AIEB(u Sv/h) &=

B SR IR R6.6.26 | 13:50 B 0.055 1 BEE BE50cm

R GElESIN)

HBIE IS BIEH [BAIERZI XIz| AIEE(LSv/h) B=
G R6.6.17 13:55 = 0.061 BBE1m
TR PR R6.6.5 1440 | K& 0.061 AXBE1m
ENE hEEiR R6.6.7 14:10 & 0.051 BEE1m
B PR R6.6.7 13:25 i 0.051 REIm
Z B hPiR R6.6.26 13:40 = 0.056 BEE1m
RKARBER R6.6.14 14:10 i 0.039 RE1Im
A EF R R6.6.12 14:20 g 0.052 BEE1m
REFER R6.6.10 14:25 = 0.059 REIm
BERER R6.6.11 14:05 g 0.057 BEE1m
HEHER R6.6.4 13:32 = 0.067 RE1m
28 Th S R6.6.4 14:25 = 0.059 BEE1m
ABRER R6.6.13 14:20 = 0.060 RE1m
IR R6.6.13 13:45 = 0.054 BBE1m
+ F iR R6.6.3 14:43 [ 0.062 BRE1Im

FAIL R GRIES M)

B EIH T BIEB | RIERZI| Xz | AlEE(ySv/h) 5=
KT ANCER R R6.6.26 9:10 £ 0.088 BEEIm




MHE -

RECELRE - REE GlEZ50cm)

B E IS BIEH [BIERZI XIE| AIEE(LSv/h) 5=
FETXEL A (BEAS#E) |R6.6.14 13:35 g 0.073 1 BEE BE50cm
KBSHE R6.6.17 15:00 £ 0.072 X BEEFE50cm
Rz sh#EE R6.6.17 15:00 £ 0.052 1 BEE BE50cm
hHREEE R6.6.20 13:50 i 0.055 X BEEFE50cm
NAEESRBE R6.6.19 13:30 = 0.056 1 BEE BE50cm
EHELYREE R6.6.18 8:00 i 0.064 X BEEFE50cm
EHEREE R6.6.24 9:20 B 0.079 1 BEE BE50cm
AHREREECELE R6.6.14 13:35 i 0.075 R BEE FE50cm
EHLIFREE R6.6.14 13:20 5 0.063 R EEEFE500m
HT=RBE R6.6.25 17:15 i 0.059 X BEE FE50cm
WHECREE R6.6.20 13:15 5 0.054 R EEEFE500m
[FHEPFERECELE R6.6.6 1400 i 0.047 X BEE FE50cm
{CHRBEE R6.6.17 14:40 £ 0.061 1 EEIFE500m
L5585 R6.6.19 13:00 i 0.056 B BEEFE50cm
IHHE, BECELE., REE GAES50cm)

B EIH T BlEB | RIERZI| X | AIEE(uSv/h) 5=
+EHHE R6.6.19 14:30 = 0.039 B EEBE50cm
BEOHHE R6.6.15 9:30 & 0.062 B BEEEBE50cm
HE%#E R6.6.26 15:00 ) 0.074 B EEEBE50cm
FECEIEEWVLLCE R6.6.5 15:30 & 0.066 B BEEBE50cm
[NEQPLHE R6.6.27 8:30 = 0.051 B EEBE50cm
DN shFEE R6.7.18 10:40 & 0.049 B BEEBE50cm
BECELEVALESShYHE R6.6.10 15:00 = 0.043 B EEBE50cm
T SFHE R6.6.8 12:40 A 0.056 B BEEBE50cm
BN ESMHE R6.6.4 11:55 i 0.065 B EEBE50cm
TEDFHHE R6.6.27 15:00 B 0.065 B BEEBE50cm
DHEHNESHE R6.7.19 11:30 ) 0.077 B EEBE50cm
KRN ESFHEE R6.7.19 10:45 ) 0.070 B BEEBE50cm
FECELEASNE R6.6.13 14:45 ) 0.049 B EEEBE50cm
=DEHHE R6.6.20 10:00 (5 0.057 BBEEBE50cm
1 HOHHE R6.6.14 9:00 i 0.052 B EEE BE50cm
WLELEFECELE R6.6.19 9:20 A& 0.070 B EEEBE50cm
INREERRER R6.6.25 14:30 ) 0.065 B EEEKE50cm
CELDWZEECELE R6.6.20 10:45 i 0.043 B EEEBE50cm
HAERGRESER R6.7.11 11:00 i 0.071 B EEE BE50cm
EIERREER R6.6.20 15:30 i 0.059 B BEEBE50cm
TTLAREE R6.6.10 11:30 ) 0.078 B EEBE50cm
HKLAZGREE R6.6.27 11:10 i 0.050 BEEEBE50cm
V-LEEREE R6.6.30 16:00 55 0.050 B EEEBE50cm
ZEKGREECELE R6.7.1 13:35 ) 0.052 B BEEBE50cm
FRAHNDEREE R6.6.11 12:30 & 0.056 B EEEBE50cm
NAUIFREE R6.6.27 13:00 i 0.050 X EEEFES0cm
HILEEREEE R6.6.27 9:40 £ 0.064 ¥ EERFES0cm
EaREE R6.6.1 10:30 i 0.074 X EEEFES0cm
EEIFEEECELE R6.7.18 15:00 B 0.052 R EEE FE500m




